TotalMarks:.... Class:9th Time:

Test:Math
Attempt ......... questions
1 Factorize 1+ 2ab - 32 - b2 1 + 2ab - 32 - b2 "J../'/ df
2 -
° Factorize X - llx-42 x> - 11x - 42 ~J,/'/u(f
* Factorize x° +48x - 12x° - 64 X +48x - 12 - 64 LA
* Factorize 5x2 -16x - 21 5X2 - 16x - 21 ~Q/l5f«“
> Use the remainder tgleoren} to find the " .__pé PJLL 3 J,J JL L
remainder when 3x™ - 10x™ + 13x - 6 EANS 2'[( 3 4 2, o
is divided by (x - 2) - 203 108+ 13x -6
3 2 2 ; -
° Factorize 3x7y(x - 3y) - Xy (x - 3y) 3X3y(x - 3y) - 7X2y2(x -3y)-) / S V4
’ Factorize 2abc - 4abx + 2abd 2abc - 4abx + 2abd *bf/’/ d;
® Factorize ~ 2x°- 8x - 42 2% -8x - 42 - SF
Attempt ......... questions
! Determing the v)alue of k if . uﬁ/s@_i_«;é J( d/ k
p(x) = kx 3+ 4x + 3x —14 and } qx)& ol 4x + k »Alp(x) = kx3 +4x +3x -4
q(x) = X - 4x + k leaves the same ¢s ° . <
K2 QluE e d S5 (x-3)
remainder when divided by (x - 3). Y Ot ("‘2(){ )
? Factorize  3X + 12y 3"+ 12y ~d,/ $%
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